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(For the Candidates admitted from the academic year 2021-2022 onwards)
(New Regulations 2021)
PAPER VII - UDAL THATHUVAM (HUMAN PHYSIOLOGY) - PAPER 11
SIDUG - UT - 11
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Time: 30 Minutes Answer ALL questions Maximum: 20 Marks

Choose one correct answer in the box provided in the Answer Script. No overwriting
should be done. Choice should be given in Capital L etters.

I1l. MULTIPLE CHOICE QUESTIONS:
Q=T el (20X1=20)

1. Which cells synthesize and secrete testosterone in males.
A) Sertoli cells B) Muscus cells C) Spermatogonia D) Leydig cells.
SDSHHEWILUBMIET 61hH OF60H6T DLEWMIBEHDHEG OILerOBLTervBImelr &HiF&HEBSH.
A) Qs BLmed Ggevmsit B) gFafl Ggevsmei C) alhaam D) Good GFevsai

2. Menarche denotes.

A) Initiation of menstration B) Cessation of menstration

C) Ovulation D) None.
‘QoeTiTe:” T ILIHEUGI.

A) yiier sybub B) uider apgey

C) Aemenp L GeuafGuigiged D) Sammst gsidsome

3. Which hormone can be stored upto 4 months in its gland?

A) Aldosterone B) Cortisol C) Thyroxine D) Parathormone
abd i@ SiHa1 Carengdler 4 wrsd eauemy CFlldhg meudbEILIBLD.
A) a1e08LTedgTer  B) ammgBamed C) engymédlen D) umgrdsmi@iomest
4. Zona granulosa secretes
A) Cortisol B) Sex hormone C) Aldosterone D) PTH
Bamemm HCyaIGeoTFTaN60 --------------- FJH@GLD.
A) &imgBamed B) Ggderd ammiGuomest C) oue0BLTerdIgymTes D) PTH
5. \Velocity of blood flow is slowest in
A) Capillaries B) Pulmonary vein C) Small arteries D) Arterioles
GHFH PULGHHT GaUPBID ------m-mmmmmoe B0 O HaTE B(HBEGLD.
A) end mew Gwed  B) @sw Fwef C) Aw swelseit D) swefasai
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6.

10.

11.

S A node is the pacemaker of heart because.
A) Neural control B) Location in RT atrium
C) Fastest rate of discharge D) Natural leakiness of K+

SA sam @swsHda Cued GudHsT ghereaiev.

A) Brbued s BUTH B) eueva Sreusded SieminpbEieien)
C) Goumslons HIEWHIL60 2 (HeUTSHELD D) supmaswter K+ adfla
. Phof Urine is ---------- .
A)8.0-8.6 B)4.6-8 c)35-4.6 D)35-55
o fipphler Ph.
A) 8.0-8.6 B) 46-8 C)35-46 D) 35-55

. Which is wrong statement about Renin?

A) Low BP stimulates renin secretion

B) High BP stimulates renin secretion

C) Low plasma sodium stimulates renin secretion

D) Sympathetic stimuli stimulates renin secretion.

Oreienr LUBSIWI HUBTET HHGHH 61517

A) B 155 AWHSD Crais sl STEIGSBSI

B) o wit 158 oiwsHsb Opefer agliemu SHTaBIBSI

C) ®ombs Wemmeavwr Gamouid Greier Fylienu STasiGaBE!
D) 5a8asal STeRiBHe0s6n Qreier &JrenU SHTeuiBGH B

. Optic disc contains all the layers of Retina except ------------ :

A) Rods B) Ganglion cell C) Cons D) Rods and cones

uttemel eIl B elflsHenTule Sienanshsl SIbHEHESHMENUD CHTRIBTNS QeienB Haly ------

A) saiip 0Fed B) Gamdedwer GFed C) amiby QFed  D)sewi® B@id gnibl] GFed

The Resting membrane potential in a nerve fibre is ---------- .

A) - 70mv B) +70mv C) - 90mv D) + 90mv
@@ BIDY Qevpulled o 6iten PUIe| F6ile| Hme.
A) —70mv B) +70mv C) —-90mv D) +90mv

The maximum volume of air contained in the Lung by a full forced inhalation is called
A) Tidal volume B) Vital capacity  C) Ventilation rate D) Total lung capacity
Qb (P UGS LTULILTS cp&Fd 2 eief(pliuget cpeold Hiemguigedled o 6o &mmpdedr
D66 SHIHBULF HIwFuiTed Sleey eTeiml SDIenPSHBLILBSBEI.

A) dLLOD 66 B) eaiLed jemay

C) amiGum LD aldsibd D) miewyuiyed pup Sieney



12. Most of the carbon di oxide in the blood is transported as ----------- .

A) Carbonic acid B) Carbonmino hemoglobin
C) Bicarbonate inos D) None.
B (6o QBTSHHbBTen GUlsOLITe LDFILIL.
A) amiGurefs oifeold B) anmundBammGamBGiom@;Germ et
C) ewustuGer oyuieiaeit D) aiglayb Bevenev

13. Digestive enzymes are present in ---------- .

A) Ribosomes B) Mitchondria C) Liposomes D) Lysosomes
Gafrer OBTH &6iT--------- ®60 o siterent.

A) eyBuTBFTIDS6IT B) ewwl” GLmasmemtt Muim

C) «8GuTBgmibaB6iT D) ewevBanBamibaseir

14. The sublingual gland is called as ---------- :

A) Stersen’s duct B) Duct of Rivinus C) Whaston’s duct D) None of the above
FLIORIGHAIED FPUILT -----nmmmmm 61601 OIS HLILIBB B!

A) OO eiiger syl B) Malered @pmul

C) aumiresm @Lomui D) GuwBsv 2 _aitenn eigiD B60en60

15. Which of the following is a component of actin filament of a Sacromere?
A) Myosin and troponin B) Actin and Troponin
C) Actin and Myosin D) Actin, Troponin and tropomysin
WetaumeuesteuBnlled o1 Fmb@rmibflenr oibigel Qenipuile Hevemel SLEGLD.
A) wBundle wmmid 1 GymGuimenesr B) ayengesr wmmib 1~ CrrGumefest
C) eyeingest wBmid @I 6st D)ayengest, 1 GyrBumediesr wommid 1 GymGumoGuimdesr

16. As the Sarcomere contracts the length of the A. Band :
A) Decreases B) Increases thrice C) Remains Same D) Increases twice
FmT@asmAwT FiphiGHeasTe0 A GUemTgeT HerD.
A) eope) B) cpeiimi wLmig Sifsfseid
C) oiingBui o _sitengy D) ®yewip wLmE o8 sfe@n

17. Co, enters a cell via cell membrane by ---------------- .

A) Diffusion B) Filtration C) Osmosis D) Active transport
BMTTUGSIENL.  HENFH ---------- cpeuld 2 ulyeml F6le dH@eT HleDSBEI.
A) ugeued B) augsl BoHed C) geieu® ugeusd D) Ggweded Burd@eauysHd

18. An example of Co-transport is ---------------
A) Na + K + Pumps B) Ca++ pumps C) Na+H+ pumps D) Na+ glucose pump.
Bement CUTEGUTSHHHGH @ 61BHSHHISHHTL (.
A) Na + K + gpruisei B) Cat++ @pruisei
C) NatH+ gwmuiser D) Nat &epd8smed GTuiselt



-

19. Which cation is present abundantly in — ICF?
A) Chloride B) Protein C) Potassium D) Sodium
absd CalenLwimer OF60 2 61 FHroushdled DH&D 2 6ieng?
A) &Genmeny® B)ursid C) Qum’ Lrdunbd D) Bsmguib

20. Life span of WBC is ------------ .
A) 12 — 20 days B) 80 — 120 days C) 20 - 80 days D) 70 — 80 days
WBC - 8e1 aumppmem afleuyib.
A) 12 - 20 mm et B) 80 —120 mm set  C) 20 —80 mm set  DS)70-80 Bt seit

*hkkkk



THE TAMIL NADU DR. M.G.R. MEDICAL UNIVERSITY
[BSMS 0124] JANUARY 2024 Sub. Code: 1307
FIRST PROFESSIONAL B.S.M.S. DEGREE EXAMINATION
(For the Candidates admitted from the academic year 2021-2022 onwards)
(New Regulations 2021)
PAPER VII - UDAL THATHUVAM (HUMAN PHYSIOLOGY) - PAPER 11
SIDUG - UT - 11
Q.P. Code: 601307

Time: 30 Minutes Answer ALL questions Maximum: 20 Marks
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I11. MULTIPLE CHOICE QUESTIONS:

CameT@D  eler: (20X1=20)
1. Spermatogenesis begins in males during ---------- :
A) Intra uterine life B) Puberty C) Childhood D) None.
B EHEG alhFH Siam 2 (HeUTHSD [BlELDeUS
A) sEiouUWLS aenTESuled B) umanoemt gede
C) ®wbms u®med D) Boupmsit gsinfissenso

2. Which of the following is secreted only during the Luteal Phase of menstrual cycle?

A) Luteinizing Hormones B) Follicle stimulating Hormones
C) Estrogen D) Progesterone.
ylny spmdluler el lguled &L L SHHe0 DU B FiTHG ammT@uomesr e1g?
A) ool generdmi emriT@LOmesr B) uredléalsd  ervigpBeul 9w ammiT@Lomest
C) ererdigBymenest D) yGymegerdi gymest

3. Hyposecretion of ADH causes ----------- .

A) Anemia B) Dehydratio C) Generalised Oedema D) Jaundice
ADH @opains SJlig med -—------------- o GWIL_THMBSI.
A) 8155 Ggrews  B) mpilpliy C)Gurg 2 160 BT afdsd  D)smoreneo

4. Dwarfism is due to ---------- .

A) Hypothyroidism B) Growth hormone deficiency
C) Hyperthyroidism D) Hypothyroidism
Geiten Hevtewio (Dwarfismysg - BT GUILD.
A) @asliBUTmHITUIQFID B) euenFdl ammiGuer @&enmpun(®
C) ewamiiuirengymuligaid D) ewamiBuTensyTuigdd



5. First heart sound occurs at the beginning of

A) Isovolumetric contraction
C) Atrial contraction

B) Isotonic relaxation
D) Iso volumetric relaxation

T 861 OB 55550 BHHDEDBS!

A) mGBameumeoulGiol Mé  F(HEHID
C) &lyeu &(mHHID

B) ;GanBLrels Herniey
D) mGameureouyGiol fle  Henitey

6. Which of the following decrease the Cardiac output?

A) Hyperthyroidism B) Fever

C) Anemia D) Venodilation

B HeWILauBmIeT o1& BB GeuefuilenL GHemma@ELb?

A) amiiutengyruliggd  B) &b

7. Normal GFR rate is -------- .

A) 152 ml/mt B) 125 ml/mt
gnigmyeom GFR eldsid - .
A) 152 ml/mt B) 125 ml/mt

8. Renin is secreted by ---------- .
A) Juxta glomerular cells
C) Macula densa -------- .
Qrefent HIHBLBAUG GTHEITED --------- )
A) maeoLT GGenminmeonT Gaed
C) Gwd@eom GLaserom

9. Opacity of lens is known as ------------

B) Nyctalopia

C) Garews D)alGenment_Gevuagest
C) 225 ml/mt D) 55 ml/mt
C) 225 ml/mt D) 55 ml/mt

B) Extra glomerular cells
D) Loop of Henle.

B) esevLm @&Genmminpeont Glaed
D) GamewiGev aiemermuild

A) Glaucoma C) Cataract D) Diplopia
Gevesterdlen geflLsmBleney ------------ 6 SIS HLILBH B!
A) saGHTUI B) B&GLmGeomIGuim C) sewiieny D)igriBemmiuwim
10. Nissi bodies are absent in ---------- part of neuron.
A) Dendrite B) Axon C) Cyton D) None of the above
VT el S uGFHuled NISSI 2 L 60&6lT BHTEWILILIL 61606m6v.

A)fm BIbL B B) 2 LevFa C) ewaLmen D)GioBsv eigiad Bevenev

11. An example of modified respiratory process is .
C)A&B

A) sneezing B) cough D) Swallowing
LIBRIWEMWESLILL L. &FouTF QFWeO(IPmBHE @ IGSHHHIT([H --------- .
A) gibioed B) ®&mwed C)A&B D)alupmig 560
12. Residual volume normal value is ----------- .
A) 1.200 ml B) 1250 ml C) 1000 ml D) 3.300 ml.
BHp6iTen OBHTGHHHHTR EUIGOLITET DG --------- .
A) 1.200 ml B) 1250 ml C) 1000 ml D) 3.300 ml



13. Ph of Saliva is ---------- .

A)6.3-7.3 B)7.3-8.3 C)83-89 D) None
o 101pisflesr Ph.
A) 6.3-7.3 B) 7.3-8.3 C)8.3-89 D) GuwBsv 2 siten eighia|d B606en6V
14. Xerostomia is present in ---------- :
A) Mumps B) Halitosis C) Malaria D) Sjogren’s syndrome
OF16) 11 LI TV S 60 2_6ITeNG.

A) OQureiens@ eimd  B) amedBLmdlar C) wGeomfluim D) GandlQyesierd Gpmuidh@ns

15. Which of the following is contractile Protein of muscle?

A) Myosin B) Tubulis C) Myosin & Tubulis D) None
etauheuesteuBnlled HemFuledl &S(Hbd LUTHLD 61517
A) wGuirdlest B) Gueded C) wBundlen w@mmid Gueded  D)eigiad Bevenev
16. The Contractile Protein of skeletal muscle involving ATPase activity is .
A) Actin B) Myosin C) Troponin D) Tropomyosin
ATPase Qsuweoum enl. o 6o _SHUl aIDLGIB HOFUlET GTHE LFHID --------- .
A) audiges B) wGuirdler C) U GynBumeniesr D) v Gyn@umoGuirdlest

17. Which of the following is not a function of smooth endoplasmic reticulum?

A) synthesis of cholesterol B) synthesis of steroid

C) synthesis of Protein D) Storage of Calcium
BIDHHMILaBBIeTendl er0cpd elewiCLmIenmerOld QI 1p@&H6e0Ha6r Liewl ©j60607

A) Osmeverdigrmed o BLghd) B) edwegmuip 2 @ushd)

C) ws 2 _Busd D) amevdluib Gaiiliiy

18. Many substances removed from the cell to outside by ----------- :

A) Phagocytosis B) Chemotaxis C) Exocytosis D) Pinocytosis.
epeold LIew QUT(HL &6iT GFaialelbha CaueMGuw SIBBMUILIL L T --------- .

A) uBsTenaBLTerdlerd B) &Guwmrddlerd

C) earsBamenaGLmenierd D) 1Gammeng@Lrdlerd

19. Intracellular osmolarity is mainly due to --------- :

A) Chloride B) Protein C) Potassium D) ATP
2 6TeFsLaIeonT SLer0GITeoT iy eTgHemed gBLBSBEHI?
A) &Benmeny( B) yrsib C) Qum’ Lrduubd D) 6.19.19.

20. Life span of RBC is ------------ _
A) 12 - 20 days B) 80 — 120 days C) 30 - 90 days D) 20 — 40 days
RBC-@61 aumpmrer eleuyid ----------- .
A) 12-20 pmseit  B) 80-120 Bl e C) 30-90 ®BmL e D) 20-40 Bl eir

*khkhkikk



